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001. A man completes 10 tums / revolulions aroung the
What will be its speed from the lulluwing?
(A) 24 m/s (B) 6.28 m/s

garden of 24 m diameler in 2 minutes.

(C) 24 mys (D) 3.14 m/s

002. Which is the correct statement from the following about
(A) This connection decreases resistance in the circuit
(B) Same eleclric current passes lhrc-ugH

(C) Resultant resistance is

the resistances connected in serieg?

each resistor,

_ less than Bvery resistor connecled in series.
(D) Electric current increases in this type of clrcuit

003. From the following which will be the correct image of the word 'INFRASTRUCTURE' in the
plane mirror in the shown position.

INFRASTRUCTURE
M
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004. Complete the following analogs
Resistivity of conduclor @ Om,
Electricity in houshold use : ..........
(A) kWhr, (B) kW/hr (C) Whr, (D) W/hr
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005.

007.

009.

010.

It the mass ol the moving object is decreased Z ol its mass and its velocity is increased
to twice ils previous velocity, whal will be the kinetic energy of the object from the following?

(A} ¥ of the previous kinetic energy

(B) 4 times ol previous kinetic energy
(C) kinetic energy will remain unchanged
(D) 2 times of the previous kinetic energy

The velocity of the car becomes 5 m/s in 1st 10 seconds. In next two minutes its velocity
becomes 18 km/hr. Then what will be the acceleration of the car from the following?
(A) 1m/s? (B) 0 m/s? (C) 2 m/s? (D) 0.2 m/s?

Identify from the following proper group of componen! symbols used in electric circuit.

W —— , —p— e
® —— p 7 — O

y ——— s —{ )—

© —li= N

© ——s—— > x  gf

Which laws of motion from the foliowing are applied in the game of pole vault?

P : Law of Inertia, Q : Newton's second law of motion, R : Newton's third law of motion
(B) Q and R

(D) P, Qand R

(A) Only P
(C) P and R

Select the correct statement related to the reflection in the plane mirror and spherical mirror.
(A) Image is always virtual in both mirrors.

(B) Image is virtual in plane mirror and it is always real in the spherical mirror.

(C) For both the mirrors incident angle and angle of reflection are on either sides of the

normal.
(D) Images are always behind in the both types of mirrors.

R, and R, are two resistors in the circuit connected in paraliel. If R, = 2R, and the resuliant
resistance of this circuit is 2 Q then determine the correct value of R,.

(A) 8 Q (B) 3 Q
1
(C) ';— Q (0) 3~ 0
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011.

012.

013.

014.

015.

velled b
Observe the adjoining graph of ‘velocily - fime' and choose the correct distance tra y

the object between the points P and ‘R
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(A) 32m (B) 320m (C) B4m (D) 640m

On which factor from the following, the speed of sound does not depend when it propagates
through the gas at constant temperature?

(A) Molecular weight

(B) Density
(C) Pressure of gas

(D) Atomic weight

Select the proper lemperature at which the reéis!ance of conductor reaches near zero.
(A) 0 °K (B) 0 °C (C) 212 °F (D) 32 °F

Select improper step from the following which should be avoided while doing ‘data entry?
(A) To put =" sign al the end while using formula.

(B) To do various ways of formating after entering data.

(C) Do not use special characters and unnecessary space.

(D) Keep data in tabular form.

If Gama rays, visible light rays, X-rays and ultra violet rays are arranged in ascending order
of their wave length, then selecl the accurale arrangement from the lollowing:

(A) Gama rays, visible light rays, X-rays, ulliraviolel rays

(B) Gama rays, X-rays, ullraviolet rays, visible light rays

(C) X-rays, Gama rays, ullraviole! rays, visible light rays

(D) Ultraviolet rays, X-rays, Gama rays, visible light rays
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016. Selaclad the propor option descrbing the motions of tha bullet fired Teom the gun
(A) Vibrational malion, linear motion (1) Lingar metion, cotaticnal moetion
(C) Non linear motlon, vibeational mation (03 Mo inear metion, rtstional et

017.  Using Ohim's Law doterming the value ol o the Tollowing tabile

Sr. No. Vollage V Curront |
! 1V 40 mh
2 Y 7% mA |
Ay 15V (B) 16V () /% v ) 150

018.  Which formula from the lollowing is used 1o gal the number of images ol an obyec ceop
belween two plana mirrors?

60 S60

n

1 B)n 0 (€) n

360 e ]
1] (1]

(A} 0 v 1 Ly 0
019. Select the proper (lrue) slatement aboul the forces acting on the Dody when e edner
slationary or in unilorm molion,
(A) No any kind ol force will acl on the body.
(B) Only lhe gravitational lorce will act on the body,
(C) The various lorces acling on the bady will nullyly each other.
(D) Various type ol forces will acl on lhe body in the same direction.

020. Complete the following analogs
Microphone : conversion of sound energy into electrical energy

Electronic stethoscope @ ...
(A) Conversion of mechanical energy into sound energy
(B) Conversion of sound energy into electrical energy
(C) Conversion ol electrical energy into sound energy
(D) Conversion of sound energy into mechanical energy

021. Choose the correct statement from the following, when the magnification due ¢ the concave
mirror is (- 2)
(A) The image is inverted and its height is lwice the height of the object
(B) The image is non inverted, virual and ils height is equal lo twice the heignt of object
(C) The image is inverted and the object is twice the height ol its image
(D) The height of an object is half the height of its image which is non inverea and wrtual

022. When a body i1s in the circular motion the work done by gravitanonal force s zerc Which

of the following is the corract reason for this?
(A) The gravitational force acting on the body and the displacement of the body are in

opposite direction
(B) The radius of the circular path 15 constant,
(C) The displacement due to the grawitational force 1s very less
(D) The gravitational force actng on the body and the displacement of the body are

perpendicular to each other

o 5] [P.T.O.



023.

024,

025.

026.

027.

A tuning tork creates the sound waves ol the wavelength 0.5m. Determine !
tuning fork i the speed of sound in air is 330 mis.
(A) 66 Hz (B) 1650 Hz (C) 16.5 Hz (D) 660 Hz

Select the proper set of optical components used in Cassegrain Telescope.
(A) Concave mirror and plane mirror

(B) Concave mirror, convex mirror and convex lense
(C) Two convex lenses ol different radii

(D) Concave mirror, plane mirror and convex mirror.

he frequency of

Which is the incorrect statement Irom the following about the magnetic lines of force?

(A) The magnetic lines of force always start from south pole and end 10 N
(B) "The magnetic lines of force are always like the stretched spring.
(C) The magnetic lines of force reppell each other.

(D) The number of magnetic lines of force at any point determine the stren
field at that point.

Select proper group of properties of electric charge due to which sometim
lightning in rainy season.

(A) Static electricity and electric induction

(B) Electric induction and repulsion in like charges

(C) Stalic electricity, electric induction and repulsion in like charges

(D) Static electricity, electric induction and attraction in unlike charges.

orth pole.

gth of magnetic

gs we see the

In the following flow chart of sound wave, choose proper animal from—human, rat, bat and

elephant in place of P, Q, R and 5.

———
Sound wave

Yes No
P Is the Frequency ]‘

- 1
i less than 20 Hz? |

— oy

Yes | Isthe frequency less than :

Q=
20,000 Hz?
""" TN
[ 1
No | Doesituse SONAR |
A< o 'flechnique while travelling?
S Yes

(A) P —> human, Q ——> elephant, R —— ral, S —— bat
(B) P —— elephant, Q —— ral, R ——= human, S —— bat
(C) P — elephant, @ ——> human, R —— ral, S —> bal
(D) P —> elephant, Q —— human, R —> bat, S —— rat

[6]
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028. The velocity of car becomes twice the previous velocity after every two seconds. If the

average velocity of car after 6 seconds is 14 m/s, determine the distance travelled by car
in first 4 seconds.

(A) 12 m (B) 36 m (C) 48 m (D) 56 m

What will be the correct alternative of the ascending speed of sound at 25°C in given media
if P — Hydrogen, Q — Air, S — Sulphurdioxide T - Helium.
(A) Q. P.T,R B)P,RQT (C) T, P, Q R

029.
(DR Q T, P

030. Select an incorrect statement from the following:
If a coolie lifted a bag of mass 100 kg through the height of 5m
(A) The work done by coolie is positive.
(B) The work done by gravitational force is positive.
(C) The work done by coolie is 4900 J.
(D) The potential energy of the bag is 4900 J.

031. What is the pH of 1M NaOH?

(A) 12 (B) 14 () 11 (D) 13
032. Which of the following is / are weak bases?

Ammonia, Ammonium hydroxide, Methyl amine

(A) Ammonia

(B) Methyl amine

(C) Ammonia and Ammonium hydroxide

(D) Ammonia, Ammonium hydroxide, Methyl amine

When 10ml of an acid is slowly added in 10 ml of water then what will be volume of

033.
sojution?
(A) Volume of solution is less than 20ml.
(B) Volume of solution is greater than 20ml.
(C) Volume of solution is equal to 20ml.
(D) At the start volume is more than 20ml and the slowly becomes less than 20ml.
034. Which of the following compound is affected by light?
(A) Calcium Suphate (B) Potassium Nitrate
(C) Silver Nitrate (D) Copper sulphate
035. Water pipes of iron are coated with layer of zinc to prevent corrosion. What is the name

of this process?
(A) Vulcanisation
(C) Anodizing

(B) Galvanisétion
(D) Tinning

[7] [P.T.O.



036.

037.

038.

0389.

041.

042.

044.

What is 1he freezing point of Hg?

(A) - 357 °C

(B) - 37 =C

(C) - 39 °C

Which of the following statement is wrong ?

(A) Washing soda is used for refining petroleum,

(B} Gypsum is used as an antiseptic.
(C) Blue vitriol is used as a fungicide,
(D) Nitre is used to make gunpowder.

Why tea becomes lighter in colour on adding lemon juice?

(A} Lemon juice absorbs the colour pigments in tea.

(B) Lemon juice dilules the tea.

(C) Lemon juice lowers the pH of the tea.

(D) Lemon juice increases the pH of the tea.

(D) - 49 °C

Due to which process colour of pages of old books tums to yellow?

(A) Oxidation

{B) Reduction

(C) Naeutralization

(D) Decomposition

A sludent weighs 44 kg. Suppose his entire body is mode up of electrons. How many
electrons are their in his body? [Mass of one electron = 88 x 10-29 am]

(A) 2 x 10%

(B) 0.5 x 103

(C) 2 x 1028

(D) 1? x 1029

Which of the following is most harmful chemical for human being in the deodranls?
(B) Aluminium zirconium compounds

(A) Aluminium chiorohydrate compounds

(C) Parabens

(D) Triclosams

Find odd one out, according to occurance of carbon?

(A) Graphite

(B) Natural gas

(C) Proteins

(D) Calcium carbonate

A compound B,A, has the following arrangement of electrons then the elements A and B

are respectively.

(A) C ., ClI

(B) C ., H

©) H.C

D) Cl . C

Which of the following isotopes is used in a deflection of small tumers in the body?

(A) Boron-10

(B) lodine-131

(C) Cobalt-60

(D) Arsenic-74

[8]
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0486.

047.

051.

052.

053.

Fit
M odd one out related to catalyst
A R . N
Raney Nickel (B) Sodium (CY lron

Whic
hich of the tollowing is not tribasic acid?
(A) Phosphoric acid (BY Citric acid

(©) Humic acid (D) Acelic acid

Which of the following reactionvs is / are correct”?

(i C-:ISKJ“ + 2Nac J Ngl..-.Sf\ll [ C-.\Cl_u
(M Na,80, + CaCl, » CaSO, + NaCl
(i) CaSO, + NaCl » Na,SO, + CaCl,
(V) Na,SO, + CacCl. > CaSO, + 2NaCl
(AY v (B) i and iii (C) i and v

(D) Manganose dioxide

(D) 1

A compound of carbon, hydrogen and nitrogen contains these elements in the ratio 9

[Atomic wt. : C = 12, H = 1, N = 14]
(A) C,H,N (B) C;H N (C) C,HN,

Which of the following do not contain water of crystalization?
(B) Barium Chloride

(D) Sodium sulphate

(A} Alum
(C) Bleaching powder

Which of the following ions form the calcium phosphate?

(A) Ca". PO~ (B) Ca¥', PO,* (C) Ca?'. PO,

What do you mean by ‘quark’?

(A) quarz (B) hadrons

(C) leptons

Complete the following analogs.
Glass cutting : Diamond © © @rc lamp .

(A) Fullerence (B) Neon (C) Argen

Which of
large number of compounds?”

(A) The atomic number of carbon is 6.
(B) Valency of carbon is 6.

(C) Carbon has the property ol calenation.

(D) CgHgN,

(D) 3Ca, 2(PO,)

(D) fundamental constituents of matter

(D) Graphile

(D) Carbon shares electrons with olher aloms to form covalent hond

[9]
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by weight. If the molecular mass is 108, what is the molecular formula ol that compound,

the following slatement is wrong with respect to the statement “Carbon forms very
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054. Find odd one out

(A) pm (B) A° " (C)u (D) nm
055. What is the chemical formula of Polytetrafluoroethelene?
(A) (C3Hg), (B) (C,Fy)n (C) (CoHy)y (D) (C4Fa)y
056. Which of the following harmful chemical are contained in food colours?
(A) Barium, Lead (B) Lead, Cobalt
(C) Strantium, Mercury (D) Lead, mercury
057. Which of the following work was done by the German scientist Friedrich Wohler? s
(A) Verified the law of constant proportion
(B) Discovered carbon allotrope, fullerence Cg,
(C) Synthesized urea from ammonium cyanate
(D) Discovered methane gas between 1776 and 1778
058. Which of the following acids are in solid state at room temperature?
(i) Carbonic acid (i) Sulfamic acid (ii) boric acid
(iv) hydrochloric acid  (v) Oxalic acid
(A) i, iii (B) ii, iii, v (C) i, ii, iv, v (D) i, ii, iv
059. Read the following statements about atmosphere and select the correct option.

Statement | : The atmosphere acts as protective blanket for the Earth

Statement I : It absorbs most of the harmful radiations coming from sun
(A) Both the statements | and Il are true and statement Il is correct explanation of |

(B) Both the statements | and Il are true and statement | is correct explanation of I

(C) Statement | is true but statement Il is false.
(D) Statement Il is true but statement | is false.

060. Find out a pair which is not correct?
(A) Thorium : In atomic energy
In production of glass and fertilizers

In flash bulb of camera
In cloth and paper industry

(B) Sodium :
(C) Magnesium :
(D) Potassium :

What is the pH of fresh yoghurt (curd)?

061.
(A) 4.5 10 5.5 (B) 6.4 to 6.8

(C) 70 to 7.4 (D) 25 to 3.5

[10] [ Contd...



062. Complete the following analogs

Rosa galica : Rose . : Bog 1aUrus
A D L
A) Dag (B) Cow (C) Tulsi (D) Hibiscus

063. Odd one out
(A) Venus fiyrap  (B) Dodder plant ~ (C) Pitcher plant (D) Sundew

064. Ident - .
entify th= correct pair belongs to division Pteridophyta

(A) Ulva, Lycopodium (B) Selaginella, Lycopodium
(C) Anthoceros, Selaginella (D) Marchantia, chara
065. ... is an example of layers chicken.
(A) Minorca (B) Aseel (C) Long (D) Brahma

066. Which of the following disease is caused by protozoa?

(A) Scabies (B) Pneumonia (C) Influenza (D) Malaria
067. Cartilage is a ................. type of tissue.

(A) Epithelial (B) Muscular (C) Connective (D) Nervous
068. Loss of water as droplet from hydathode is called ............

(A) Photosynthesis (B) Transpiration (C) Excretion (D) Guttation

069. Identify the Acrocentric chromosome from the following:

(A) v ®) i (©) ‘ ©) .!

070. Which of the following statement will explain the meaning of synapse.
(B) Junction of two muscle cells.

(A) Junction of two nerve cells.
(D) Junction of two sperm cells.

(C) Junction of two bone cells.

Identify the correct pair of “Pyrimidines” from the given alternatives.
(B) Cytosine and Thymine

(D) Thymine and Adenine

071.
(A) Adenine and Guanine

(C) Guanine and Cytosine

072. Which ci the following options shows the klinefelter syndrome condition of chromosomes
(A) 44 + XXY (B) 44 + XX (C) 44 + X (D) 44 + YYX

Odd on out on the basis of narrow spectrum antibiotics.

073.
(B) Amoxicillin (C) Penicillin (D) Tetracycline

(A) Ampicillin

[11] - [P.T.O.



074 Whao of the Kollowing wan contracted the infection of “Typhus' during the ragaarch?
AV D Alexanden T leming (1Y) lla Dangston

W Van Limengen (1) Hoberl FHook

078, Identity the comect diagiam ol atigma ol Mibisous.
LY

@\ o @V o V”

076, Which of the following pair of muscles have involunlary movement?
(AY Sheletal muscles and cardiae muscles
() Cardiac muscles and smoolh muscles
(O Smooth musclos and skoletal musclos

(Y Al above

077. At which of the following tomperature the enzymes are mosl aclive?
(A) 376 (B) 306 C (C) 968.6 “F (D) 296 “C

078.  The diagram shows some slages in the nitrogen cycle. Which of the following slages involve

the mole of baclena,
]
.!Plnnl Proleins

A
1 ,
" Nitrogen ‘ Animal ‘
in soil | ~ Proteins |
\ | P /
Q | Ammonia },’ R
| Compounds |
{A) P and Q (B) P and R (C) Rand S (D) P, Rand S

079. What is the main aim of “Harit Sena" at school level project?
(A) Water conservation {B) Soil conservalion
(C) Swachhata Abhiyan (D) Social forestry

080. The excreta of .............. contain more amount of nitrogen, phosphorus, potash as compare

to other animals.
(A} Sheep {B) Cow (C) Buffalo (D) Ox

081. Identify the pair ol scavenger animals.
(B) Dog, Cat

(D) Monkey, Squirrel

(A) Hyena, Crow
(C) Human, Kite

[12] [ Contd...



082.

083.

084.

085,

086.

087.

088.

089.

090.

In whic )
h of the following situation we have to use R..C.E. remedy?
lA'I Framurg

(B) Sunstroke (C) Contusion

W . )
hat is the function of thyroid gland?

(A) Sugar control in blood
{C) Cholesterol control in blood

Which of the following methods of wasle management produ

(A) Biomedical waste management (B) Sale landlil sites

(C) Industrial solid waste management (D) Pyrolysis

How many cranial nerves are their in our peripheral

(A) 23

Which of the following statement is correct about dicotyledons

(B) 46 (C) 48

(A) Their rool systemi consists of fibrous roots.
(B) Their leaves have parallel venation.

(C) The wvascular bundies in their stem are arranged in the rings.

(D) The flowers are lrimerous.

In which process the Ammonia is converted in to nitrite

(A) Denitriication  (B) Nitrification

Which of the following productions is related 10 Biotechnology?
(A) Production of cash crop

(C) Vaccine production (D) All above

Select the plant from the following in which the reprod

(A) Funaria (B) Fem (C) Chara

Observe the given flow chart and identify the correct pl

P «—

(A) P -
(8) P -
(C) P -
(D) P -

| Kingdom Plantae |

L

N et fowarng?
——— lsitflowering? ——
L - |
No | ~ o - [ 5
" Do they have | r
| QOrgans? | 'branches on stem?
LYes
Q

Ulva. Q - Fern, R - Catharanthus, S - Betelnut
Fern. Q - Ulva, R - Catharanthus, S - Betelnut
Fern. Q - Ulva, R - Betelnut, S - Calharanthus
Catharanthus, Q - Betelnul, R - Ulva, S - Femn

(B} Calcium control in blood
(D) Proteins contral in blood

nervous system?

(C) Ammonification
(B) To make cartilage

uction occures by the spores

Do they have

|
o

(D) Epilepsy

ce energy?

(D) Nitrogen fixation

ants in place of P, Q, R and S

[13]
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091,

092.

093.

Which of the following chemical present in the wood gives flavour of clove to the food
cooked on it.
(A) Acetaldehyde  (B) Isoeugenol (C) Diacetyl (D) Lignin

Which of the following Indian / Indian ofigin scientist was the Nobel prize awardee in
Chemistry?

(A) Hargobind Khurana (B) Subramanyam Chandrashekhar

(C) Venkatraman Ramkrishnan (D) C. V. Raman

Who of the following is called the father of ‘Cell Phone'?
(A) Dr. Martin Cooper (B) Dr. Joel S. Engel
(C) John F. Mitchell (D) Douglas H. Ring

Which of the following country has launched Chandra-X-ray telescope in the space?
(A) India (B) Russia (C) America (D) China

Which of the following electronic component was used in lhe third generation computer
(1964 - 71)?

(A) Integrated circuit (B) Vaccume tubes

(C) Transistor (D) Microprocessors

[Note] For Q. No. 96 to 100 paragraph is given. Head it and answer the questions:
MRI the Boon

Magnetic Resonance Imaging (MRI) also krown as nuclear magnetic resonance
imaging. is a scanning technique for creating detailed images of the human body.

During MRI, a person will be asked to lie on a movable table that will slide into
doughnut shaped opening of the machine to scan a specific portion of your body. The
machine itself will generate a strong magnetic field around the person and radio waves
will be directed at the body. It generate images of parts of body that can't be seen with
X-rays, CT scans or ultrasound. It can help doctors to see inside joints, cartilage, igaments,
muscles and tendons, which makes it helpful for detecting various sports injuries

MRI is also used to examine internal body structures and diagnose a vanety of
disorders, such as strokes, lumors, spinal cord injuries and aye or inner ear problems. It
Is also widely used in research to measure brain structure and function It doesn't emit

any harmful radiations.

Which is the biggest benefit of MRI compared wilth other imaging techniques?
(A) It can help doclors to see inside joints.

(B) It used to examine internal body structure.

(C) No risk of being exposed to radiation.

(D) It diagnose vanty of disorders

[14] [ Contd...



097.

098.

099.

100.

What is the disadvantages of MRI?

(A) 1t is harmful for pregnant women and babies.

(B) It doesn't detect features of diseases such as osteoporosis.

(C) They cannot provide information about blood circirculation and blockages.

(D) It cannot diagnose disorders in eye and inner ear problems.

Which of the following cannot be used for bone imaging?
(A) X-ray (B) MR (C) CT scan (D) Bone densitomentry

Which of the following technique is used in MRI?
(B) CT scans imaging

(A) Ultrascnography techniques
(D) Nuclear magnetic reson

(C) Ultrasonic technique ance imaging
Who invented the MRI technique?
(A) Mathew Samuel Kalarickal (B) Forrest Morton Bird
(C) Dr. Raymond Damadian (D) Godfrey Hounsfield

[15]
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001,

002,

003.

004.

005.

.1i198 9th Std. - ENGLISH

related Lo the stat
he charges are created on hey,

Stlect the false statement from the following o eleotrieity.
(A) Aller rubbing the specific substances on e
(B) Unlike charges are ercated on these substances.

(C) There is no effeel of atmosphere on these charges:

m
(D) The charges on Lhese substances do not last for o

wch other,

long time.

Je heat is given Lo the test tuhe
e. Select the correct alternay,
Q R and 5.

As shown in the given diagram tl
till boil the water near the flam

R
about the temperature al points P,

A P>Q>R>S5
B P<Q>R>S
) P<Q<R<S
mP<Q<R<S

mnet?

Which of the following group is improper to make the ma
I, Tron, Aluminium

{A) Iron, Cobalt, Nickel (B) Titanium, Nicke
(C) Titanium, Bronze, Nickel (D) Aluminium, Nickel, Cobalt
Select the proper sequence of types of force acting in the following activities.
(1) Iron nail attracts towards the magnet when the magnet holds near it.
(2) “The ball floats on the water.

(3) The batsman hitting six on cricket ground.

(4) The stone released in the water.

(A) Non contact force, unbalaced force, contact force, balanced foree
(B) Un balanced force, balanced force, Non contact force, contact force
{C) Non contact force, balanced force, contact force, un halanced force
(D) Non contact force, unbalanced force, balanced force, contact force

An electric circuit is completed by connecting insulated wires as shown in the diagram.

Determine which of the following statements are true related to this circuit?

e

't
oo ez )

(P) In the circuit electric current is flowing from A to B

(Q) In the circuit electrons are moving from B to A,

(R) Here only electric energy i1s being converted into magnetic and light energy.

(S) Here chemical energy is being converted into electric energy and then electric
energy is converted into magnetic and light energy,

(A) P, Q R (B) Q, R, S (C) P, R, 8 D) 1, Q8

(2] [ Contd...
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006. In the adjoining table temperatures in °F, °C and °K are given. Choose the correct

009.

010.

alternative showing the approximate average room temperature at night of Pune city n

the month of March.

Alternative P | °C K
@A | 59 ’_ HL._1_ 288
- ® | es | 20 | 293 |
¢ | 122 | 50 | 323
@ | 104 | 40 | 313 |

Identify the correct co - relation, .
High Density : Black hole : : Less density : ...
(A) White dwarf (B) Neutron star (C) Red giant star (D) Sun

What is the correct reason for the voice of male, female and children are different?

(A) Number of vocal chords are different.
(B) The length of vocal chords is different.
(C) The efficiency of muscles connected to the vocal chords is different.

(D) The efficiency of vocal chords depends upon the sex and age.

P Q In the given figure, P and Q are the simple pendulums having
S —ra— different length and mass. Select the correct alternative from
e the following related to them.
(¥]
§ N
In
o
Q 50 3:\1
40 gm

(A) The periodic time of pendulum ‘P’ is greater than that of penddlum ‘Q'.
{B) The periodic time of pendulum ‘P’ is less than that of pendulum ‘Q.
(C) The periodic time of both pendulums is same.

(D) The periodic time of both pendulums is more than 2 seconds.

The graph of “Velocity - Time' of the
uniform motion of train is given to you.
Observe it carefully and determine the
distance travelled by the train between
the places ‘A’ and ‘B’

(A) 60 km
(B) 3 km

(C) 300 km
(D) 180 km

(3]



how many
01 A lamp of 100 W was used 4 hours daily in February 2016. Then find out 3

umits of electricity was censumed in that month
A e B 116 16 ‘D 0.116
[} B

ldentify the wrong ray diagram from the following

. 4]
013, Which of the following are correct statements about an optical telescope

¢ Two or more convex lenses are used in this telescope

' To enter mimmum light objective lense 1s smaller

£ After entening hght ravs first refraction and then reflection occures

h' Eve piece s smaller than objective lense.

Al e h B e f () . h D f g h
014. 05 kWh = | .

A0S x 108 Bl 18 x 10° (C) 1800 x 10° (D) 18 x 10°

015.  Select the correct soft sound wave from the following:

e

e
- "llliﬁlu
i\‘_I
o
§.
P
E
wlaplatemenl”
o
_ﬂ__’._r'"
I
- A
_J
D

0

R

J V V U

-

A A
T

Read the following statements and select the correct alternative:

L@

o

.‘ﬁ:-—-q-_-.-——i—‘-— -—
— "'f,)
~
>
h\‘\_
gL \
“Trapa irmenk

Uiaplarems nl

Ry —

0l6.

Statement 1 If a light body and o heavy body possess the same momentum. the lighter

body will possess more kinetic energy.
Statement 2

The kinetic energy of a body varies as the square of its velocity.
A Both statements are true and statement 2

-

1> the correct explanation of statement 1.
B Both statements are true, but the statement 2

1> not the correct explanation of
statement 1

1 Statement 1 s true and statement 2 os false
(D Both statements are false

[ 4] [ Contd...



017.

018,

019.

020,

021.

hn-ll':‘l the asconding ordor ol (he folbow b oot aeearding b e vadoeity ol sl wl
25°C through them,

) .

P> Nickel, Q 9 Aluminium, 1€ 5 Gluss, H > i

VRS, Qo an e, N, N THRT ORI NIRRT

From which of the following formuoln the velueity of froe Tnlling abigeet feom Ve beight o
Lom. s obtiadned?

!

(A) v = 2y (M v = /¢ (0 vé o o/, i vt o w2

Seleet the corvect Hrougp il coanponentn o the cirenit of vorilieabion of Chi's Law

(>
. 1 || s .
, ’ AN )" @ |
5 [
-

[
| Alternative I l I i H
- _{A'I Vallmeter !['h‘l'lll cell | Plug key | Ameter
| (B) Ameter ‘i.h'l.llll coll | Plug key . Vallmetaer .
i {('._} _ Ameter | Eleetrie eell T Voltmeter Plug key |
L (I_)l Voltmeter Amoter Mug key "'.Iallff.'ﬂ]"llf l".‘f”]

Determine the correct equation from the following it F 2 Kinetic energy, P2 momentum,
M 2 mass and V = Velocity of an object,

(A) B = SPVE (BB = dmPY (©) B = PV D) Ky 2

- < Observe the Venn diagram and select
Plane / /R \ . Concave the proper alternative related o the
fiirTor | ) J mirror nature of images in the area P, Q)
1'-._ ;’/ VPN ] R and S,
| (1 Y ) g \I.f/ /
\ /{ Convex
y mirror
_ ' :
[ A]t.l:l*ﬂ:lll‘a'(' P 8] R 5
(A) Virtual | Non inverted Same as object Smaller than object
(B) Virtual Inverted Same as object Smaller than ohject
() Virtual | Inverted | Smaller than object | Same as an object
() [ Keal Non inverted | Greater than object | Same as an object

5] [ P.T.O.



ation of physical

following about an inform

Choose the correct alternatives from the

022,
quantities. S =
Group Physical quﬂntit._vL unit | __L_y]£ )
X Momentum kgms! | Vector
| Y Work ‘t_ Nm Vtﬂﬂ[ |
oz 4 Pressure T Nm? Scalar |1
w , Power | Nms~ 1_L ) S{'ﬂur
(A) X, Z (B) X, W cC) Y, W (D) X, Y
023. Pieces of copper wire having different dimensions are given in the following diagram.

Determine that which piece has the greatest resistance.

¢ .
@ 4 ) ) (B) Aéﬂ——/,j

2
2/

|
©) 2A o) A )

(B) Plane, Concave
(D) Concave, Convex

(A) Concave, Plane
{C) Convex, Concave

The weight of an object on earth is 29.4 N. If we release this object on moon from 20 m

025.
height, what will be its kinetic energy at the time of collision with moon surface?
(A) 98 J (B) 9.8 J (C) 294 J (D) 294 J
026. Sound waves are transmitted downwards into the sea at the depth of 3100 m with the
help of SONAR technique. After what time an echo of sound will be heard?
(A) 2 s (B) 1s (C) 4 s (D) 8 s
027. After running 250 m distance in 20 seconds on the circular path Vijay comes at initial

place. Determine his average velocity from the following.
(A) 12,5 m/s (B) 0 m/s (C) 500 m/s (D) 1256 m/s

[6] [ Contd...



028,

029.

030.

032.

033.

034.

035.

036.

037.

Seleet the incorrect statement related to the parallel connection of resistors.

(A) This connection minimise the resistance in the circuit.

(B) Same clectric current flows through each resistor.

(C) Potential difference is same across cach resistor.

(D) Resultant resistance is always less than resistance
circuit.

of each resistor connected in the

The ratio of the masses of moving objects X and ¥ having equal momentum is 12,

Determine the ratio of their velocilies,

Ay 21 gy 12 iy 4 1 mr1:4
The moving objects with initial velocily 7 m/s travels 92 m distance in 4 seconds. Find
ils acceleration?

(A) 23 ms# (B 2.5 ms* ('} 8 ms2 (D) 15 ms*

Find the correct option related to the size of sodium (Na) and Aluminium (Al atom.

(A) Na > Al (B) Na = Al (C) Na < Al () None of these
In which of the following substances, the carbon is found in free state?

(P) Diamond (Q) Marble (R) Wool (S) Graphite

(A Q, S By P, R, S c) P, S (P, QR

In which part of candle flame the complete combution takes place?

(A) Blue zone (B} Middle (Luminous) zone

(C) Outermost zone (D) Dark zone

Identify unbalanced chemical equation from the following.
(A) PCly + 3 H,0 —> HyPO, + 3HCI

(B) CaC, + 2H,0 —— Ca(OH), + CyH,

(C) 2C,H,y + 505 —= 4C0, + 2H,0

(D) 2KNO; ——= 2KNO, + 30,1

Identify the chemical which is used to detect leakage of LPG.
(A) Methyl mercaptan (B) Propyl mercaptan
(C) Ethyl mercaptan (D) n - butyl mercaptan

Which of the following statement is / are correct.
(i) Salt of strong acid and strong base is neutral.
(ii) Salt of strong acid and weak base is basic.
(iii) Salt of weak acid and strong base is acidic.

(A) (i) and (iii) (B) only (i) (C) (i1) and (1) (D) (1) and (i)

Read the following statements and choose the correct alternative.

Statement | : Aluminium foil cannot be used in a - particle scattering experiment.
Statement IT : Aluminium is highly malleable metal.

(A) Both statements are true and statement Il is a correct reason of Statement 1.
(B) Both statements are true bul statement Il is not a correct reason of Statement L
(C) Statement I is true and statement Il is false.

(D) Statement II is true and statement 1 is false.

(7] [ P.T.O.



MR A element N tacts with dilate LSO, s well as with NaOHl to produce salt and
vdrogen was then which of the ollowing statements are true by

G N an electopesitive olement

s Wade of N basie i nature

e Ot of N s acnde e nature

vt N an electronegative element
i, Liv)
GAY L ), ) (RY G, o, o THETERTTIA (DY G, T, L

s, Ulsang the given table seleet cormeet alternative about \ and Y

Alons \ \
Number of protons 8 8 .
1
Number of neutrons 8 10 |

VN oand Y oare wsobars

BN and Y have different chenueal properties
N and Y have different physical properties
DN and Y oare dilferent elements

0. Find odd one out acconding to phl value
i1y Urine

A Vinegar B Black coffee W Blood
41 In an electrolysis of water, volume of a gas evolved at the anode 18 oo the volume
af a gas evolved at the cathude. :
(I one third

A) double B equal (W half

i i ' i i : of Sodi 4 atoms of Boron,
042, ldenufyv the crvstalline salt which containg two atoms of Sodium, 4 at
atoms of Oxvgen, 10 molecules of water,

A' Epsom salt (B Glauber's salt (1 Borax salt

() Alum salt

043.  NCL 1s the chloride of metal X. State the formula of the sulphate and the hyroxide of
the metal X -respectively.
A' XSO, X(OHY;
CXSO,. NXOHY,

(B} XS0, XOH
(D) XS0,. XOH

The fluorescent tubes and neon sign bulbs glow because of ...

044
A High density of gases, (B) High temperature of gases.
¢ High applied voltage. (D) Presence of charged particles.
045. Find odd one out according to the presence of Methane,
(L UNG (0 Biogas

A LPG (B LNG

046. Read the following statements and choose the correet alternative

In a chemucal reactions

|  Electrons are Ln
Il Electrons are shared between twa atoms
B Only statement s troe

D Both statements are Talse

Statement anstered from one atom to another
Stateme

Statement
A Only statement | 1= true

(') Both statements are true

" | Contd...
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047,

048.

049.

050.

051.

052.

053.

054.

.
Select the proper group of componeiitis ol porthnind coment?

(AT Silien, Carbamide, Coleiam Oxdde, Alaoing
M Coleinm Oside, Silien, Aliminn, Tron Ol
(C) Caleinm Oxide, Silien, Corhinmdde, tron Oxdde
() Siliea, Aliminn, Tron Oxdide, Coebimide

Decomposition of vegetable mntler inte compost inoan oxnmple ol
(i Fodothermie renction

(v Acerohie decomponition

(I Gy, G, Livd

() Exothermic ronction
i Anerobie decomponition

(A (), G (I G, tiid, v (0 i, v

In the given figure, which subalnnees are deponited on 1" and Q vlectrodes?

e ®

(A Cuoon I' and ClL, on 8]
(1) Cly, on P oand Cuon Q

—{:u(:I.A dolution

Which of the following is not the property of covalent compounds?
(A) Low M.P. and B.P.
(B) Soluble in organic solvents,

(C) Low M.P. and High B.P.
(D) Conductor of heat and electricity in very small scale.

Acetic acid and Amonium hydroxide are ... and
(A) Weak acid, Weak base (B) Weak acid, Strong base
(C) Strong acid, Strong base (D) Strong acid, Weak base

Mg + Cu0 —— MgO + Cu
Which of the following are true related to the above reaction?

(i) CuO gets reduced. (i) Mg gets oxidised.
(iii) CuO gets oxidised. (iv) It is a redox reaction

(A) (1), (11), (iv) (B) (i), (1)

How many molecules are there in 77 gm of CO,?
(B) 10.6385 x 1043

(A) 1.05385 x 10%2
(D) 6.022 x 1023

(C) 105.385 x 10

In Dalton’s sign () was used for which element?
(A) Copper (B) Hydrogen

() Cu oon 1" and no any substanee on Q

(1)) No any substnnee on I and € both

respectively.

(C) Gii), (iv) (D) i), i), Gv)

() Benzene (D) Oxygen

(9]
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055,

056,

057,

058,

059.

061.

062.

065.

Nime the pas which turns moist lend acetate solution silvery hlack,

(A S0, (., W CO, () H,S

Why Potassium and cold water are nol used to propare Hydrogen in the lnboratory?
b The reaction is violent and exothermic,

and Potassinm do not renet with eold water

(i) Reaction is veversible

ivd The liberated heat ignites the hydrogen

(A Only o) (R, v (), (i) () (i), i), Giv)

What is the proportion by weight of the constituent clements of Cu and O in the

compound Cu?

(A 3868 (B 4 ¢ 2068 () 4 3968 (D) 2,968 : 2
Which radioactive isotopes were released in Chernobyl disaster?

AV B - 10, As - T Smo- 163, Co - 60

(BY L 1810 Cs - 137, Se - 90, Pu - 241

(WY1 - 131 Co - 60, Sr - 90, Ra - 223

(DY 1 - 181, P - 32, Smo- 1563, Sr - 90

Which of the following are basic radicals?

(A Ag*, Cu®t, NH,* (B I, 8O, -, MnO,
(C) Ag*. Na*, | (D) Ag*, Cu®*, MnO4"

An acid mixed with water, results in the decrease of concentration of which ion?

A O - (B) OH- (C) H* (D) Hy0*
Which of the following cells secreat Somatostatin hormone?

(A) Alpha cells (B} Beta cells (C) Delta cells (D) P. P. cells
Cobalt - 60 is used for ..o

(A In treatment of brain tumour

(B' For preservation of food

(C) To prevent the sprouting of onions and potatoss
(D All above

Which of the following tissues carries the function to give support and flexibility?
(A) Parenchyma tissue (B) Collenchyma tissue
(C) Sclerenchyma tissue (D) Xylem and Phloem tissues

Where is eardrum situated?
(A) In between inner ear and brain (B} In between Pinna and middle ear
() In the cavity of middle ear (D) In the cavity of inner ear

Which of the following is responsible for dandruff’?
(A} Algae (B) Fungi (C) Protozoa (D) Bacteria

[10] [ Contd...



067.

068.

069.

070.

071.

072.

In which ; ;
pair of dizorders the number of chromosomes

B

(A Down s
Kl “vh}'ndrome and Turner syndrome
i :
nefelter syndrome and Down syndrome

(O Turn
er syn : Qi 1
yndrome and Klinegelter syndrome

(I

In irradiation method of food -

food:

G - .
ralactosaemia and Sickle cell anaemia

are 47 7

protection which of the following changes are seen

‘1) Microbes, fungus and insects are destroyed.
‘:'h Ripening period of fruit increases.

(3) Sprouting process becomes slow down.

(A) 1 and 2

(B 2 and 3

C) only 2

D 1.2 and 3

How many chromosomes are there in lion. tiger and cat respectively?
(A) 39, 38. 36

Select the correct alternative about diseases and their pathogen:

(B) 36. 36. 36

(C) 38, 38, 38

D 39, 38, 37

. Diseases Influenza Leprosy Malaria _Ri.ngWGTm

. Pathogen P @  r s
(A) P - Virus. Q - Bacteria, R - Protozoa.S - Fung

(B) P - Fungi. Q - Bacteria. R - Virus. S - Protozoa

(C) P - Bacteria, Q - Protozoa. R - Fungi. S - Virus

(D) P - Protozoa, Q - Fungi. R - Virus. 8 - Bacteria

Gammexane powder is used 8s ...
(A) Pesticides

{B) Germicides

Which of the following is rich source of Vitamin
(A) Apple

Observe the Venn diagram an

(A) X
(B) X
(C) X
(D) X

Wolf,
Bear,
Eagle,
Bear,

{B) Honey

Primary

Consumer

Y - Elephant,
Y - Wolf.

Y - Wolf.,

Y - Wolf,

d identify the correct alternativ

-
.

W

Z
Z
Z
Z

T T T T

TN

Z

N,

s

- Bear,

- Elephant.
- Elephant,
- Eagle.

—

Consumer

\C' Fungicides

D' None of these

_A?

(Cy Carrot

D' Pea-nut

Secondary
~— Consumer

Top

W - Eagle

W
W
W

Eagle
Bear
Elephant

in

e about W, X. Y and Z.

[11]
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aemia then what s the ratio of progeny ?

073. If both parents are carrior of sickle cell an o
(A) 1 normal : 2 sufferer : 1 carrior  (B) 1 normal : 2 carror : 1 sulierer
(C) 1 normal : 3 carrior : 0 sufferer (D) 2 normal : 0 carrior : 2 sufferer
074. Identify the type and mode of infection of disease - Cholera.
(A) Epidemic and viral (B) Communicable and Bacterial
(C) Contagious and viral (D) Epidemic and Bacterial
075. Identify the pair of amphibians of the plant kingdom.
(B) Nephrolepis and Selaginella

{A) Funaria and Anthoceros
(C) Ulva and Chara (D) Spirogyra and Lycopodium

076. Complete the analogy
Rhizobium : Bacteria : : Diatoms :
{A) Fungus (B) Protozoa

(C) Bacteria (D) Algae

Who proposed the concept of Ecological pyramid first?

(B) Dalton
(D) Charles Elton

077.
{A) Lindeman

(C) Justus Von Liebig

078. Observe the flow chart and identify correct order of living things P, Q, R, S

Living things |
T
— Vo _‘ Yes
1 1 L] ‘? —
B _IS it prq?_e_u_'yotlc 1 —P
o -71%_ . Yes
L Is it unicellular ? 1—-—>Q
No Yes
- >R

J_ It has cell wall
No

J

S

S - Spiral Bacteria
S - Tapeworm

S - Plasmodium

S - Chlorella

(A) P - Plasmodium, Q - Chlorella, R - Tapeworm,

(B) P - Spiral Bacteria, Q - Plasmodium, R - Chlorella,
R - Tapeworm,

(C) P - Spiral Bacteria, Q - Chlorella,
R - Spiral Bacteria,

D) P - Plasmodium, Q - Tapeworm,

Choose the correct statement from the following.

(1) Salk’s vaccine is used for prevention of Polio

(2) Triple vaccine is used for prevention of measles and Hepatitis

(3) B.C.G. vaccine is used for prevention of T.B.

(4) Double vaccine is used for prevention of Enteritis and cholera

(C) 1 and 3 (D) 2 and 4

079.

iA) 1 and 2 {B) 3 and 4

080. Complete the analogy
Cotton ; : B.T. cotton : : Potato : ..o
(A) Amflora (B) Vaishali (C) Mon - 810 (D) Vistive Gold

[12] [ Contd...



082.

084.

086.

piven i mne

Identify carre
. 0”‘-'31- UEEI' of hormones X, Y and 4 muu(llnln to their function
orm
xonf"_a ) o Function
o E H‘I_C(._!] division I
[ Y | Ilulp in enlargement of cell I!
A Z | Help in stem clongation ||
(
[B: i Auxlm Y - Abscisic acid, 7 - Cylokining
X Cytokinins Y - Gibberelling, 7 - Auxin
‘ - Cytokinins Y - Auxin, # - Gibberelling

(D) X - Gibberellins Y -

‘Bombyx mori” is a speci
{A) Hybrid cow (B S

Observe the diagram of human teeth. Identily the proper order

Abscisic acid, 7 -

es of e :
(() Layers chicken

ilkworm

f

Cytokinins

(1)) Marine water fish

(D
(A) I IL, I, IV (B) I

Complete the classificati

(A) Malvales, Hibiscus
(B) Sapindales, indica
(C) Rosales, rosa

(1)
m I, v, 11

on tablc
[ Hmrarchy

(11D 1V
(C) I, I, 1, IV () v, 11, 1 11

T thiscus ll
]

Kingdom Plantae |
——Divis'mn_ N Angi_usperrr:s. |
Class Ecu_ﬁkﬂlu&e_ |
Order \
T Family “Malvaceae |
Genus I-Eiﬁas_ |
Species :___ '

rosa-sinensis

(D) Rosales, Hibiscus rosids

Which of the following chromoplast is res

(A) Carotene (B)

Choose the correct characteristic of ‘Pin

(A) Seeds are covered

Betalains

(C) It is perennial and woody

(C) Lycopene (D) Xanthophyll

us’.
(B) Flowers develop into fruits

(D) Their stems have branches

on Lhe basis weething

ponsible for tomato to become red in colour?

[13]
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O87.  ldentify correct pairs from the following,

088,

(P Rhizobium ——= Nitrogen fixation

Q) Clostridium ——= Bakery products

(R} Penicillium — > Production of antibiotics
(S) Yeast > Food poisoning

(B) R and P (C)y S and R Dy Q and S

(A P and Q

Identify the wrong statement / statements from the following.

(1 CO, is released into the atmosphere through voleanic activity

(20 €O, is released into the atmosphere through process of photosynthesis
(31 €O, is released into the atmosphere through process of respiration
14 (‘U;. is released into the atmosphere through

(A) 1 and 3 (B) Only 2 (C) Only 4

forest fires

(D) 2 and 4

Observe the given diagram and identify the correct order of K, L, M, N

089.
(A) K- Tricuspid valve, L. - Superior vena cava,
M- Left Atrium, N - Left pulmonary artery
(B) K- Tricuspid valve, L - Systemic aorta,
M - Left ventricle, N - Left pulmonary artery
(C} K-Spnliluna]- \"HI\"E?, ]_,-Sl]pﬂ['i(}l" vena cava,
M- Left ventricle, N - Right pulmonary artery
(D) K- Semilunar valve, L -Right pulmonary vein
M - Left Atrium, N - Superior vena cava
090. Which of the following variety of chicken is reared for eggs as well as meat?
(D) Lehman

iA) Cochin (B} Black Rock (C) Ancona

For Q. 91 to 95 : Read the following passage carefully and answer the questions

given below:
Sattelite Science

The main components of a sattelite consist of the communication system, which
includes the antennas and transponders that receive and retransmit signals, the power
system, which includes the solar panels that provide power and the propulsion system,
which includes the rockets that propel the sattelite. A sattelite in geostationary orbit can
deviate up to a degree every year from north to south or east to west of its location
because of the gravitational pull of the moon and sun. A sattelite has thrusters that are
fired occasionally to make adjustment in position. A sattelite’s life span is determined by
the amount of fuel it has to power these thrusters. Once the fuel runs out, the sattelite
eventually drifts into space and out of operation, becoming a space debris.

A sattelite in orbil has to operate continuously over its entire life span. It needs
internal power to be able to operate it's electronic systems and communications payload.
The main source of power is sunlight, which is harnessed by the sattelite’s solar panels.
A sattelite also has batteries on board to provide power when the sun is blocked by
earth. The batteries are recharged by the excess current generated by solar panels when

there is sunlight.
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(B) Solar pannels
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(A) Changing chemicals in the batteries.

(B) Changing electrodes in the batteries.
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Which of the following rocket laun
(A) Vikram Sarabhai space center

(C) Satish Dhawan space center
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(P) Dense dark.

(Q) Decreasing level of Oxygen.

(R) Increasing level of water due
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(B) P, Q, R
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(A) Dr. G. Naresh Patwari
(C) Dr. Nissim Kanekar
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(A) CARTOSAT - Earth Science
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y time when necessary.
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d in Chemistry in the year 20177
(B) Dr. Deepak Nayak
(D) Dr. Amit Datta

lite and its function from the following :

(B) G-SAT - Planetary Science
(D) PISAT — Space
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